Efficiency vs hit

efficiency vs hits

e T R
— . e

2o
I
o
09910 20 30 40 50 60 70 80
TP hits
== DOV GTGA oTgAIVETTor_TO00SVT
—— DQM_original_1000evt
==t e
—— It_nocpe,
[ Efficiend — ngjnjcpengloouevt
) 1.2
o Lo
s I
(_ﬂ -
» I
o T
<
8 L
5 0.8F-
S I
e f
= [
0.6_—'
0.4
0.2
o
T
o
0.9 . . . .
5 10 15 20 25
TP layers

Efficiency vs pixel layer
0.8,

0.7
0.6
0.5

0.4

efficiency vs pixel layers

0.3

0.2

Ratio
|
[

0 1 2 3 4 5

0.95! 8
TP pixel layers

Efficiency vs 3D layer

o 1.2
2 [
>
ko
a 1
(]
1Y
>
> 0.8
[3)
=
2
(&)
& 0.6
3
0.4f
0.2
T
o I H .
I PRI
o +] SR | M
o 2 4 6 8 10 12 14 16 18 20

TP 3D layers



	Contents
	Page 1


